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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
4,728,344 2,792,373 1,935,971
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o Oty A =Y 694,926 669, 465 25,461
= 89,500
= 605,426
8 NE2Y 2 HYM d=22 177,757 180,796 A 3,039
NSEANE 29 =& L 22 175,774 178,707 N 2,933
101 @121l 16,862 41,445 N 24,583
04 JI2ZtH2Z2XNEE S 16,862 16,610 252
OH| M2 T AP O 24 H] 16,862
—-JI=23 69,760& *x1H x160Y 11,162
—F5Y 69,760 1 x40 2,791
— X 69,7603 1P x12L 838
— 40 BE & 14,791,000 *14% 2,071
201 L2 Y| 119,612 98,812 20,800
01 At 22l Yl 86,850 79,650 7,200
OXX M M= 27,300
— XA DX M 22,750
- H3I|E 65,000& x 1508+ A 9,750
c A2 65,000& x50 A 3,250
- AEE 65,000& x50 A 3,250
g = 65,000& x 1002+ A 6,500
— M= DXAM 65,000& *30EF A 1,950
— M= MYE2XAM 65,000 x408f A 2,600
OnNZzsd" L S8 LdZH2AAY ez
1,100,000& x12& 13,200
OdAAZE 2 17,500
— Z2ASEX 25,000& *x3008+ A 7,500
—ZEHI) EYH & A28 LA
250,000& =204 5,000
— DEITEEI A2F M 500,000 =104 5,000
Ol 2282 M 9,000
— 848 60,000& *1200 =103l 7,200
— 4 2tat 15,000& x 1200 *10&] 1,800
OMAUXNEASH ALY EE22 A 2,100
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OfIds2g & 70,0003 x6H x43| 1,680
e 2,100
—NgAgEd 55,000& 20 1,100
— XA &2 & & 100,000 x2&+53 1,000
02 8323l 12,762 9,162 3,600
OLFMHL S === 250,000& »20AH 5,000
Oz8Hd HZE ==& 2,000& 5004 1,000
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308 AAIEHHSOIA 35,659 34,632 1,027
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OM == Jt&HZ 0l8 =8
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Het & AR 155,072 134,430 20,642
Her 2 SARD) 155,072 134,430 20,642
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4 0I2ZtHZ22EE = 16,862 16,610 252
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201 Let24d]| 132,010 112,420 19,590
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— A Y =2Al 8,000& x5 x200 8,000
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—Jles 69,760 x5 662 23,021
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01 S LHOYI 7,200 7,200 0
O3FMA AEHZAL & 2e(2F)
20,000 »4H 602 4,800
OS2 HEHHEAHSEH)
20,000 x 12 =10 2,400
HY2AZH (ML) 111,438 121,749 A 10,311
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